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Recruitment Test — 2021

Duration: 60 Minutes Total Marks: 100

Instruction: Answer all the questions in the order they are laid out on the question paper

Fifteen college seniors, none of whom took any math classes in college, were selected for a clinical trial. An
online GRE Math Course was made available to them, and these students were allowed to study for however
many hours they wanted. Then, each took the GRE for their first time. The graph below records how many
hours each student studied, using the online material, and that student’s GRE Quant score. The best-fit line
model shows the best prediction, given such a student’s hours of study, of what her GRE Q score might be.

[ Hours Studied and GRE Q scores

L

g

8

5 10 15 20 25 30 35 40 45 50

GRE Quant score
5
w

N A R D=2

Hours Studied

SRS — - = S i .-
Among the students in this trial who studied less than 25 hours, what is the highest GRE Quant score
achieved? ()

the students in this trial with the three highest scores, approximately what is the average nurnk();:)r
L : d studying? _

homt;l::r:szts in L}rils %rial who studied for 20 hours or more, what fraction of them performed

E %han expcctcd according to the best-fit line model? Express your answer as a fraction. (10)

e that women make better parents than men and that this i1s why they have tht‘: greater role
most societies. Others claim that men are just as good as wonlmn at parenting. Write an
sint of view. You should write approx]msftely 250 W()rd.s. Use your ideas, knowledge,
rt your arguments with examples and with relevant evidences. www.prebd.com (25)

manager and one of your borrowers has failed to repay his/her last couple of
o that client for repayment of the loan. (15)
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er through February and shipped x/2 rakes at
e business paid no storage costs for the rakes

storage cost, in dollars, that
tober? (10)

to hold the
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